pirection (Q. No. 1.— 5 : Study the table and
aﬁswer the questions.

Laptop sold by five different stores in different
months.

\

Lo

(wn | | ww | w | smm
Store | June | July [ May | October
| 240 “["342 | 234 210
J 230 .| 234 | 432 242
K | 12092338 | 235 234

0280 || 348 | 342 178
< 326 | 456 | 362 148

1. 98 8RR K 37 L g 3 et i
| 3R M RIS T AU <hl I1JATd =1 & 7

A) 29:37 B) 100 : 149
€) 25:37 D) 241837
E) Swie & O &g =&

E¥E What is the ratio of the laptop sold by
"'Fgggl store K and L in'June and the laptop sold by
EH | and M in May 2
A) 29 :37
C)ie 258 37
E) None of the above

B) 100 : 149
D)L 21 37

2. Ife 5 & WR L,;fmé%nq37.5°/c,ﬁqﬁqaﬂ@
&, @ o § T L gl S Y TR-ggul eueiy

T HIT |

A) 142 B) 175
C) 1250, D) 145
E) Swdea o | IS TR

It 37.5% of laptop sold by store L in June is
defective, then find the non-defective laptop
sold by store L in June.

A) 142

C) 125
E) None of the above

s,

B) 175
D) 145

P

‘ énﬁﬁ@t K, L 31T M I S 7T S92iq &
3red (SATHT) HEAT T HINT |

A) 231 B)ES 161
C) 256 D) 263
E) Iuger 8§ & IS A&

Find the average (approx.) number of
laptop sold by stores K, L and M in May.
A) 231 B) 313

C) 256 D) 263

E) None of the above

. Jom$ 3T 37eRsR H TR J g 99 T Aver
<! T 73 3R 5§ R M gRI 99 T
Avera 1 fohan fewa @ 2

A) 98.33% B) 66.81%

C) 78.32% D) 69.18%

E) 3ude | & 15 T8l

Number of laptop sold by store J in July and
October together is what percent of the laptop
sold by store M in May and June ?

A) 98.33% B) 66.81%

C) 78.32% D) 69.18%

E) None of the above

. SRS H WR g S T Hof e, g
ol AU B 71.42% 2 | I wé § =R |3
T Toeh a1t verT < He e w5 |

A) 84 B) 21
C) 86 D) 54

E) Sugs # & 1S e

In October total laptop sold by store | is
%@]71 .42% of total laptop in the shop. Find the
m’g}gnumber of unsold laptop in store | in the

month of October.

A) 84

C) 86

E) None of the above

B) 21
D) 54

T
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6. 26 fawer, 2024 Y fopg 2w Y wrERERR TR |
@?@WWWUAV122WW°

Wﬁ&m%m?

A) FTH B)s:arrsa;
C) TH Bt
E) Swiwd & g 7

On 26 December, 2024, which country
*-‘ji-] successfully tested the firing of the supersonic
E]ﬁ missile UAV-122 from the Bayraktar Akinci

8. freferfiad o & fira weg g |

A) HIIES B) et
C) did D) htam
E) 3w & & ¢ 7

Find the odd word from the following.
A) Bat B) Pigeon
C) Parrot D) Crow

E) None of the above

9. ‘sohiime facett 311 $fean’ g foheh g
TeRTIITd ht 71 oft 7.

drone ?
A) Iran B) Israel A) dft.5ft. foeres
C) Turkey D) Russia B) R.H. g
E) None of the above C) w.Sft. AT
D) TH.TGH. &9
ST TAHT-5 §Ie7 TR e E) ST & & i 7l
g forelt 7S oft | The book ‘Economic History of India’ was Q/
v published by
A) FE St A) B. G. Tilak )(g/o/
B) R. C. Dutt
B) WH.TA. ¥
) C) M. G. Ranade /ﬂ%
C) W & D) S.N. Sen
D') T E) None of the above %
E) 37 § & % 7 | 1 oR
A 10. 1 =21 40 fome =t 125% TR ? w8 Q <
i) lopment Planning — the Indian i VY
e g . A) 125fie B) 20.5 fime \ :
Experience” book was written by C) 25 fire D) 15 frz :
A) Sukhamoy Chakravarty E) 3‘q‘§§7ﬁ-{ T g ®Is Td =
B) S.N. Sen 1251% of 1 hour 40 mins is : ]'
=
) Amartya Sen A) 12.5 mins B) 20.5 mins =
D) Adam Smith C) 25 mins D) 15 mins e
K ==
E) None of the above E) None of the above e s
e jucc]
JE4] I & 3 & b =
o)
(e ]



P I IS I

14, oW H U 4§ s o wR F
Hfeded i guar @ |
A) FEETG
B) eHfgatam
C) @i
D) TehTcHeh T
E) 3udad & ¥ I3 &

9&‘@ refers to the existence of more than
EIE”:!’? one level of Government in the country.

A) Federalism
B) Secularism
C) Democracy
D)

E)

Unitary system

None of the above

12. Mt Wi § frefafiga 4 § $H-a1
FIRTH WM B 7
A) & =9 T
B) =mehiet U1 % %ol
C) 3¥eft 512
D) Siet Herw % forq A1 o
B) 3w & & g e
Which of the following adaptations is
common in desert plants ?

A) Large flat leaves

o

Bright Colored flowers

Q

)
) Shalloy roots
; Thick stems for water storage

None of the above

13. 27 fadst =t % €Y H 71 ST R
A) frers feam
) fava woieq feam
) S wear feag
) HgF g feam
_E) Sudad & & #i3 TE

27t September is observed as
A) Teachers’ Day

B) World Tourism Day

C) International Literacy Day
D) United Nations Day

E) None of the above

14. YRd gRI AUSE foT e 3= (IBCA) &8

Y& TohaT TR AT 7

A) 3 T, 2023 B) 5 54, 2023
C) 9 318«, 2023 D) 22 #3, 2023
E) ST & & IS T

When was the International Big Cat
Alliance (IBCA) launched by India ?

A) 3 March, 2023 B) 5 June, 2023
C) 9 April, 2023 D) 22 May, 2023
E) None of the above

15. 9RA 3 1983 fshehe fava #4 BTt o vy o

1 T o7 7

A) sets B) awsEw
C) JATeferan D) difehea™
E) 37+ H § %Is 7

,EEE;‘EI India defeated which team in the 1983

e

[=]¥%% Cricket World Cup final ?
A) England
C) Australia
E) None of the above

B) West Indies
D) Pakistan

B
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v (w9, 16 - 20) : Fr=fefes SwEd 1
SIRYES STERA L AR A fow T w6 IS |
foan T AR AT i - TerT gEEL A S TS
wfevEl (TR 3R ) (RRem ®) 6w
quian ? |

plrectlon (Q. No. 16 - 20) : Study the following
information carefully and answer the questions
given below.

The given bar graph shows the quantity of
vegetables (Carrot and Radish ) (in kg) sold in

five different shops.

12 K3 3% o e 1 s A i B i 39 o e
) T 3R C 31 D # 3= 70 e 1 A %
o &1 A 2 | A & 7 Ffei i Fed Tl
1 IS | (TR, Fefl 3 )

A) 1048 kg B) 1124 kg
C) 1152 kg D) 1096 kg
E) S5 & § ®Is T&l

The quantity of Pumpkin sold in A is the
difference between the quantity of Radish

990 g
900 . E!grgsold in A and B together and the quantity
e 88 of Carrot sold in G and D together. Find the
630 i total quantity of vegetables sold in A (Carrot,
540 — Radish and Pumpkin).

‘3‘28 A) 1048 kg B) 1124 kg
el C) 1152kg D) 1096 kg
180 E) None of the above
[ Radish [] Carrot Sirse 5
18. Tt gHMEI T TSR SR eit H TE= = F=
_ Kl [ TSR : Pt
. : IR 7
16. Fii 9= 7u 7l 1 =1 A, C 3UD H sl T .
Teft 1 3 AT 9 FH ST et s A).608 kg B) 620 kg
TR T STUTA 4158 | FH o= TS il C) 612kg D) 616 kg
T 1 BT | | E) Irdad & & IS 7
A) 720 kg B) 810 kg
C) 750 kg D) 780 kg What is the difference between the quantity
E) Sqde A § i3 TRl of Carrot and Radish in all the shops
The quantity of Radish sold in F is the average n
1@&‘%% quantity of Radish sold in A, C and D together fogelber
[E]£:%54 and the ratio of the Radish to Carrot sold in F A) 608 kg B) 620 kg
is 4 : 5. Find the quantity of Carrot sold in F.
A) 720 kg B) 810 kg C) 612 kg D) 616 kg
C) 750 kg D) 780 kg
E) None of the above E) None of the above
JFA| I &5 & e




19. B3k Fﬁwﬁmﬁwwmm
32:35% | F3ik Dﬁézﬁnéa%nﬁaﬁg‘w
o off= 3T S hifvya |

A) 108 kg B) 116 kg
C) 112kg D) 104 kg
E) ST & 9 #1E 7

The ratio of the total quantity of vegetables

BaEiElsold in B and F is 32 : 35, Find the difference
[e18%

'"between the number of vegetables sold in

F and D.
A) 108 kg B) 116 kg
C) ldakg, D) 104 kg

E) None of the above

20. B 30D ® &9 T4 TSR S 9En E # St T8
gfesrt =t et AT T feham whawra & 2

A) 87.8% B) 83.9%
C) 89.5% D) 85.6%
E) Swded & @ I3 &l

The quantity of Carrot sold in B and D
together is what percent of the total quantity
of vegetables sold in E ?
A) 87.8%
C) 89.5%

E) None of the above

B) 83.9%
D) 85.6%

21, v ST S S et 2 o e e

HAT 8 ?

A) 7 B) 9
C) 5 D) 6
E) Swie o & H1g Tl

India shares its land boundaries with how
many countries ?

A) 7

@)=5

E) None of the above

B) 9
D) 6

22. o f99ess & Hey # fr=fafaga § @ wH-w
U A 8 ?
A) 38 G9g < fort ot T § et ferm ST Sekar &
B) 38 @Hg < foret oft Te o Y =& fopam s
Hehell 8
C) 39 hael TI@¥l H Us1 fomam ST Tehelt 2
D) 9 haeT ArhaT H U7 fohan S Hehar 2
E) Sudad o & S &t
?Fgl_f_‘l Which of the following statement is true
[E]¥¥%:% regarding the Money bill ?
A) It can be introduced in either House of
Parliament
B) It cannot be introduced in either House
of Parliament
C) It can be introduced only in the
Rajya Sabha

D) It can be introduced only in the
Lok Sabha
E) None of the above

LR



23. WA ¥ fomE #1 LPG uisd H T

fopam T e

A) 1990 B) 1995

C) 1991 D) 1992

E) 3T & @ g 7

LPG Model of development was introduced in
India in

A) 1990 B) 1995

C) 1991 D) 1992

E) None of the above

24. 2025 et fohan T gEEhT <l HON 61T,
e weh IreT e (T o w9 4 T )

ff wfteT @ 7

A) 135 B) 139
C) 145 D) 140
E) Swie & ¥ H1g @l

E How many total Padma Awards were
Eand announced in 2025, including a duo case
ki (counted as one) ?
A) 135
C) 145
E) None of the above

B) 139
D) 140

5. T A 3R &7 % TS & o= b qw

S R AR |
A) TSI ST

B): I <hIed

C) e Eel

D) dRifehd SR et

E) ST # & S T

The time gap between the question hour
and the agenda of the day is called ;
A) First hour

B) Zero hour

C) Half an hour

D) Starred question hour

E) None of the above

26. wgeA & AR Rremer@ @ gega e
Ieord @, Tt fmior fopa med smee
MG H EI AT ?

?E‘:g‘E]The Girnar Rock Inscription of Rudradaman
E]-E,%_grefers to Sudarshan Lake, constructed
" during the reign of which Mauryan ruler ?
A) Ashoka
B) Dasharatha Maurya
C) Bindusara :
D) Chandragupta Maurya
)

E) None of the above ﬂ S )
{o ;

07. Ffia i 3 GHd 5 TUH & Filh & Jsd
3, e gt @ B8 2, B SAlE § B 8
ST H & 991 8, gt S | B @ |

I T TS M 8 ?

A) g B) RN
C) /=T D) STeEHT
E) Sudea o | g T8

The age of Amit is same as Sumit because
they are twins, Richa is younger than Sumit,
Richa is younger than Jyotsana but elder than
Saurabh, Sumit is younger than Jyotsana.
Who is the eldest among them ?

A) Amit B) Saurabh

C) Richa D) Jyotsana

E) None of the above

JF4

B 7R




28. T FTHYT U fereprey Gy (DRDO) i
T fob o g oft o
A) 1968 B) 1962
o) 1972 " D) 1958
E) Swle o @ @i qtlt
&)+ El Defence Research and Development
w«g Organization (DRDO) was established in

the year "
A) 1968 B) 1962

E) None of the above=,

e Wﬁwaﬁamﬁwgmmasm
et gar 2 2 L
A) Tig
B) W |
C) HSE JAecaner
D) af@em
E)W%ﬁlﬁaﬁé%ﬁ

In }narﬁbemgs the posture and balance
of the body is controlled by

A) Pons .

B) Cerebrum j

C) Medulla oblongata

D) Cerebellum b

E) None of the abo

30. %ﬂaﬁawﬂmw%ﬁmwﬁf@m% ?
A) T4

i,
W

o (9.4, 31 — 35) : AICAhT T ST R 3R 1oq
1 I |

P 31 Q gRI S T~ 3FerT HeHi 5 fordl M ger
g3 (et + 3 fow m 2 |
Direction (Q. No. 31 — 35) :
answer the questions.

Total pages (Hindi + English) written by P and Q
in four different months given.

Study the table ang

g

Month P Q
May 240 340
e 320 234
eI
July 420 280
ST

August 220 360

31. ¢ 37 S H P gw ford e et s, e 3k
ST ¥ Q T ford T e 93 1 e
o wftrerd 2 7
A) 56%

C) 80%

B) 78%
D) 70%




32. 0 4 P R for@ u gsat =t wiewa Q
O | TAE TEN 3§ fepa 3t 8 7

A) 36.75% B) 33.3%
C) 48.36% D) 25.96%
E) ST ¥ ¥ =g 18

How much more percentage of pages L

written by P in June as compared to Q in
same month ?

A) 36.75%
C) 48.36%
E) None of the above

B) 33.3%
D) 25.96%

33. Tl R P g R T s 7 T 7
A) 243 B) 360
C) 256 D) 300

E) S | ¥ %13 &

What are the avérage pages written by:P in
all the months together ? . ke

A) 243 B) 360

C) 256 D) 300

E) None of the above

34. yer # Q g Rrd T e gt B 28.57%

AR A Qmﬁaﬁﬁﬁmﬁaiasﬁqs
for@ g ? .

A) 284 B) 200

C) 232 D) 268

E) Swie & & I3 76l

&.28 57% of the total pages written by Q in
.Wﬁduly is in Hindi. How many English pages
. are written by Q in July ? ,

35. W P 3 Q T g fore e gt geai 3R
gem # P 3l Q 3t g ford e e 7t
aﬁaméeﬂgqﬁw%?

A) 31:23

B) 39: 21

C) 29:35

D) 37 :59

E) 3w H 4 R T

What is respedtive_ratio between the total

pages written by both P and Q in May and
.w”the total pages written by both P and Q in
July ?

A) 31:23
B) 39: 21
C) 29:35
D) 3759

E) None of the above

36. WA 1 Uga faesht s 3wl shg forg o o

€ g 7

A) AT B) Settem
C) s D) Hier
E) 3w # @ IS T

India’s first overseas Jan Aushadi Kendra

was installed in

A) Nepal B) Bangladesh
A) 284 B) 200 s .
C) 232 D) 268 C) SriLanka D) Mauritius
E) None of the above E) None of the above
JF4 T & 9 R PTO




37. 23 9 dheleR wredTe ¥ S el w0 7

A) s |

Whatis the symbol associated with
Parshvanatha, the 23 Tirthankarg 2
A) Buli

B) Lion
C) Conch
D) Snake

E) None of the abo\?‘“gf;

Under Article 129 of

the pas been declared as g
Court of Recorg.
A) Gram Nyayalayas
B) Supreme Court
C) High Court

D) District Court :
E) None of the above

ndian Constitution,

PSS Sy,

39. w@q@,ﬁ%ﬁﬁGGﬂaﬁ, 2025 W1 3197

wﬁﬁasﬁtatqunﬁ,%a%sr%wmﬁsﬁé?
A) e

Justin Trudeau, who announced his

resignation on 6 January, 2025, served as

the Prime Minister of which country ?
A) Australia

B) New Zealand
C) Canada
D) United Kingdom

E) None of the above

: Which of i

of the followmg States faces the
?‘é%

R

MOst serious issye of groundwater
:'Mover-exploitation ?

A) Kerala

B) Meghalaya

C) Punjab

D) Odisha

E) None of the above

JF4

YA

B 10 &

R s s
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43, 2 T3l i U 1530 8 I ST
Toreh g0 fomam 7

. WA, 15 8, @ I AT FIE. 7
A) T Ty A) 112 B) 102
B) i werh C) 120 D) 84
C) wifirres g E) v A & B 7
D) ¥rehe wwter %f‘jﬁf% The product of 2 numbers is 1530 and their
E) S ¥ & g et stk HCF is 15, then their LCM is |
géj‘- ‘Conditions of Economic Progress”\_,—yv This A) 112 B) 102
i Work was done by | f C) 120 D) 84 |
A) Adam Smith '

B) Colin Clark
C) Robinhood
D) Alfred Marshall

E) None of the above

44. ﬁrﬁw%mmﬁ@ﬁwﬁzﬁﬁm%?

E) None of the above P 21, -
A) T e N
42. Wﬁmﬁwmwwﬁmﬁmaﬁmﬁa B) drew
I 7 C) sty fress £
A) 1976 B) T X
B) 1966 %
C) 1996 E) SR & d v =l N
D) 1986 M ELAIE Which part of the Tripitaka contains the &
E) Sl s ad o) ::-'conventional teachings of the Buddha ? f
tion Act in India was : i %

Consumer Protection _ A) Vinaya Pitaka -
passed in the year g
A) 1976 B) Dipa Vamsha :
‘ :

B) 1966 ' C) Abhidhamma Pitaka &

& 930 D) Sutta Pitaka :

2; I1\198n69 of the above E) None of the above %

O |

11
JF4 00RO , CBuR

P.T.O.

sags
e
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passage
and choose the correct option to answer the

45. T WA uH R e i gd 2 w2 20 e

Direction (Q. No. 48 and 49) : Read the
Toparft ﬁvﬁagfj T w7

B) 520° questions that follow -
A) 840° ]

C) 140° D) 320°

E) 3w 9 w8

Advances in Electric Vehicles
How much angular distance will be covered
by the minute hand of a correct clock in a
CIl period of 2 hours 20 minutes ?
A) 840°

Electric Vehicles (EVS) have gained Popularity as

an alternative to traditional gasoline-powered cars.

They offer environmentaj benefits, such as reduced

B) 520°

C) 140° D) 320°

E) None of'the above

46. Choose,the;'(é:brrect Question tag for the
followfl.ngﬂ%'gai;ément.
The Windoné_,-are open,
A) arent |t'?
B) isn't they,?
C) isnmtit P

D) aren’t they ?

E) None ofthe above

47. Choose the indirect form of the given

sentence.

| said, “Theifggacher likes me”.

greenhouse gas emissions and lower air pollution
Many countrieg are investing in Ev infrastructure,

including charging stations, to support the

widespread adoption of electric vehicles.

48. Why are countries investing in EV

infrastructure ? ,

A) To replace Public transport
B) To promote air travel

C) To support EV adoption

D) To reduce taxes on fuel

E) None of the above

49. Which of the following is a type of EV El#[E

infrastructure ? ET3E

A) | said that the teacher liked me. A) Petrol pumps
B) 1 said the teacher was liking me. B) Gas pipelines
C) Isaid the teacher likes me. C) Charging stations
D) | said the teacher is liking me. D) Oil rigs
E) None of the above E) None of the above
‘ JF4 T

B 12 B




,,,,,,

"50. Choose the word which is nearest in

meaning (synonym) to the given word.

Admire

A) Blame

B) Stop ]
C) Curse A
D) Praise '

E) None of the above

51. IAH T 2025%3131%55;&31%

o R sy o
A) T B) firg
C) g=i D) Hedt aRE
E) ST & & g 7 ¥

ERAE] Exercuse CYCLONE 2025 is conducted

IEI., ﬁ between India and which country ?
A) Maldives B) Egypt
C) Turkey D) Saudl Arabia
E) None of the above

NN

52. ﬁﬁmm%%{qﬁmm#w

Topam ST 2 7 |

A) FieaHiex B) freadidiex
C) whe D) simfiex
E) s & & 8 T

Which instrument is used to measure
potential difference ?
A) Voltmeter

C) Ammeter D) Ohmmeter

E) None of the above

B) Galvanometer

53. ﬁw%mmﬁ@mﬁmm(?)%sw

\'JAf
4&12/\36,,\1 081\324 ?
A) 520 B) 972
C) 680 D) 475
B T 9 _ <76
IWhat comes in place of question mark (?)
E‘ﬁm the following number series ? 5 "
4,12, 36, 108, 324, ? |
A) 520 B) 972 —C 49
C) 680 D) 475

E) None of the above

54, ﬁw%%aﬁﬁﬁq—%m@ﬁm%w% ?

A) SR B) HeeER
C) g ' D) ol :
i . 1
E) S 8 &+ 7 C
Which of the following forests are adapted - E
to saline water ? K
A) Thorn B) Evergreen E
C) Mangrove D) Deciduous <
E) None of the above 3:‘
';’\.
?\\:
55. Tritafad 3 & HH-wh arvre wem 7 2 o 2
A) 53 B) 29
C) 47 D) 57 k
E) 7w # | i T8 ‘ :
Which among the following is not a prime ;
number ? .
A) 53 B) 29
C) 47 D) 57

E) None of the above

JF4 I

P.T.O.

K13 R
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AT - 3107
aaﬁqaﬁmaﬁtwm-m

mﬁwﬁé@r%ﬁéﬁél

pens sold by four differ
400

ent shops.

300

200

100

A B C @D

€ The number of ball point pens sold
© 9 T STe wide 39 ht G -
i+ The number of gel pens sold"
BN T S 9 T T a
# The number of fountain pens.

& S T HEH U9 FH g@n

L

S LT IT P

56. WAamé%wanamﬁzﬁvﬁgmm
THH A 3R Bmé%rrqwééﬁwﬁrga

T Y I 7 1 |

B) 5:3

D) 1:4

Find the ratio of the total number of ball point

Pens sold by shop A to the total number
of fountain pens sold by shops A and B

together. :
A) 9:8 B) 5:3
C)2:7 D) 1:4
E) None of the above

S7. SPM A ZRI o= T Sfet wide 3t predy 4
aﬁ%ﬁwaﬁtwoméﬁmﬁa
Gﬁ?ﬁ?aﬁ%m%aﬁammﬁl
A) 250 B) 230
C) 190 D) 340
E) SWiw & & g 7

Find the difference between the total number

of ball point and fountain pens sold by shop A
'Ea@iand the total number of ball point pens sold

""by shop D.
A) 250 B) 230
C) 190 D) 340

E) None of the above

58. M A 3R B g1 ¥ U, 31 U
SPT B SR S Y et e
1 TR wfrera § 2
A) 50%
C) 120%

E) Swiw & & s =

The total number of gel pens sold by shops

A and B together is what percentage of the
total number of bajj

= Fo @
% o T

B) 100%
D) 80%

point pens sold by
shop B ?
A) 50% B) 100%
C) 120%

D) 80%
E) None of the above

(IR

e WL 113 tnsa

R B e i B R .

B 14 R



59. < TP E 31 3 0 wiet e, et i s
O B S e g C = gemT H 33.33% wm
& SR C 7 39 e R e o e
TP BN W 715, T 3w E g 3
1 =z S S 3 B et v i |
A) 320 "
C) 410
E) S & & g

Ifthe total number of ball point, gel and fountain
Pens sold by shop E is 33.33% |ess than
that of shop C ang the ratio of the number
of fountain pens sold by shop C to shop E

is7: 5, then find the total number of bal| point
and gel pens sold by shop E.
A) 320 B) 450

C) 410 D) 290
E) None of the above

B) 450
D) 290

m#mﬁm@aaﬁaj};o%aq

BREA W} | IR gHm Damé%mqq;ra-éq
W T G F A S804 2,
SPA F 0 99 M0 ¥ < e wen s i |

60.

A) 560 B) 480
INED D) 600.
E) Svdwa & ¥ $1¢ e

b

Out of the total number of pens sold by shop F,
40% of the pens are fountain pe;ns. If the ratio
7.Eé!=of the number of fountain pen sgld by shop D

= k?‘a’%to shop F is 3 : 4, then find the:total number

a8 [E] -
5

of pens sold by shop F.
A) 560 B) 480
C) 720 D) 600

E) None of the above

61. Rt arelorereen 6 g 2
A) JE
B) Ff
C) =R 3tk afirsy
D) wieem oi gaw
E) S & & i ey
The backbone of the Indian Economy is
A) Industry
B) Agriculture

C) Trade and Commerce

D) Transport and Communication
E) None of the above

62. ‘O’ mmm@mmwm% ?
A) T yem B) gy
C) US=m D) TS|
E) Swdw o § #18
‘Maach’ is a traditional folk theatre form of
[E]#E5 which State 2
A) Madhya Pradesh
C) Rajasthan
E) None of the above

B) Maharashtra
D) Guijarat

63. ‘IR = ¥ig 3ies B’ = T H Rl e e

A) T s

B) oIS ey

C) ¥ TR foretes

D) .. TR

E) Swiw & & s T
Who is known as ‘Grand Old Man of India’ ?
A) Dadabhai Naoroji

B) Gopal Krishna Gokhale

C) Bal Gangadhar Tilak

D) M.G. Ranade

E) None of the above
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4. gt B A AR F 3R T 38 1
2 |trﬂanfrﬁmﬁgweaw% ?

A) 4 B) 2
Gl o D) 3
E) 3w @reﬁé EE]
| [-] Suket has three daughters and each daughter
-E%_? has a brother.’ How many male members are
there in the famlly ?
A) 4 B) 2
C) 1 ‘D) 3
E) None of

65. 2@2111%@ TaTfd B0 AT AR % @
%gaﬁ%aﬁaﬁﬂmmmaﬁ—e%lsqﬁgaﬁ
%ﬁaﬁﬁlﬁaw% ?

Potential dlfference between two pomts of a
wire carrying 2 ampere current |s %
> 0.1 volt. What is the resistance between

these points il
A) 0.5 ohm -
B) 2 ohm
C) 20 ohm .
D) 0.05 ohm ,
E) None of the above

66. Biqm I9fe T &9 & frefaRad 3 & frw

3NYW i Fehla a1 g ?

A) e e 3R TR

B) e ey 3R sered

C) adl e 3 J=I

D) ser=d, TEE 3TN Iy

E) 30w & § &3 Tl
The Chhandogya Upanishad clearly refers
to which of the following ashramas ? -

A) Only Grihastha and Vanaprastha

B) Only Grihastha and Brahmacharya

C) Only Brahmacharya and Sannyasa

D) Brahmacharya, Grihastha and

Vanaprastha
E) Noné of the above

67. YR e S (RBI) Tesier Sr-uR LR\
YIAH He| %W % e e simisdg gt &
A ga B ?

A) TSiFR BT
B) Mewe Gifaw
C) Woiw B
D) TR Jeag
E) 3ud & ¥ 91 75
Wthh international initiative hag the Reserve
?;Sra;r:; cl))folrr;dla (RBI) joined to enable instant
er retail payments ?
A) Project Horizon
B) Project Phoenix
C) Project Dart
D) Project Nexus
E) None of the above
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68. Toesd o I 7 =

A) fezm

B) wmmay

C) wifea

D) =g

E) ST & & 9
The Brahmaputra River i is called
in Tibet.

A) Dihang

B) Tsangpo

C) Lonhit

D) Lhasa

E) None of the above

hRIEmR |

69. Wﬁmﬁﬁ@ma—mﬁ%aﬁtw
w4 ﬁwm%aﬁm ﬁmm%l

H@Tw% ?

A 7 B) 1%‘\‘;,’
C) % D) %
E) Swfw o & w8 &

’ w
t — froma number and
=1 If You subtrac >

v 1 1
= multiply the result by —, you get —.The
number is

A 5 B) 17,
g
o) 5 D) 2

E) None of the above

70. Frefefaa 3 3 fRa 2024 # u-dwEht % fol
AT R (efrgsherg) vl 7
A) <5 smEen
B) g $AR
C) Hiefiohia oM Yee
D) wReEe emmeyg
E) w7 o & w7

Who among the following received the
Arjun Award (Lifetime) in 2024 for g&%
Para-Swimming ? ,

A) Devendra Jhajharia

B) Sharad Kumar

C) Murlikant Rajaram Petkar

D) Mariyappan Thangavelu

E) None of the above
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Waw (9.4, 71 - 75) ; ﬁw%r@awmﬁqm‘{é
ﬂﬁﬁﬁf%ﬁt?ﬂﬁm

@mmaﬂtwmaﬁrﬁiﬁawmﬁm

STERE 6 TR g § i e i

I3~ WCAE B AT T W W R 3y

T SR 3R gt B R e @ e s

< T I e = 1

T’ G A T Wh Y T w- e S w

B W T T TE-TE B wete W, s
T T T S Tty | |

FERIEA G137 TR hl 36 WA g3 | 3% 3
Tt & U | =N et T v R ) Ak
I 7 AF-FE T wree qUT 3T i TS vQ
aTeft gt A S | Rean e g e

JF4 (VAT

B17 B P.T.0.

e - .

IR
AN, AN FIN N

3
R

RSA
;A.(/,/.’f{h“*}:\ .

TG B



@iﬁ!ﬁwﬁmwﬁm,@ﬁgﬁm_@g
CERIREN i I
mrarter <Y T % fr |
“W%’qg@mﬁga@mm?,
W T I ITEBR T g T T Hﬁwﬁanuﬁ
w%w‘%@w% |W@mﬁw%mm
S 0 8 63 T 9 5f s 3, ..

e 17 T = Y v Wﬁr%zﬁq@w
7 | 9ferg, |T T, @WWWWWT\%|
Th Il T woft @y o o - "5 % W H
Wﬁﬁqu%%mw@m% ﬁh‘amam?\q

bt 27’

- [E%E
;%

..4._ '('

gg3mﬁquq‘%%5“WT§ﬁﬁﬁqaﬁ%%m#Wt
Tﬁwﬁ@aﬂ% @Wﬁﬂﬁmm%@aw

- Hgﬁéﬁamrmﬁragﬁ#ﬁaﬁpgalgqsmgaa
mmm@ﬁﬁ%rﬂwéﬁl

'n.‘?aggaﬁéaamwmﬁQ|agggf%ﬁT
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A) T 9 I frar oo
B) T gt ¥ woft @ E;
0) gt e 512
D) w wh A o
E) vodw & & W 7 )

72. T S Al & qeg & weh
a2 7
) R I Hd T A whe T W
T B, I = o fow |
B) 31 Sy Y g % fore |
C) T &1 3 ke @ T |
)3H%qﬁmumﬁérmwgﬁanégﬁaqﬁa;
form |
E) 3w # ¥ %1 7}

73. Wﬁmwﬁqﬁﬁmgm )
A) ST FTE TOlt T @ it F e Saw Ay
T amh e
)'ﬁﬂﬁuaﬁwﬁﬁﬁmwaumnggﬁgnar,
C)awﬁﬁﬁiwmﬁaﬁWmsmgﬁFﬁl

D) e e & wogat 1w e & |
E) sww & & %
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76. I ' e ot A foert s 2 < o i

< 35k W = R ¢

A) <G St Wi & 1 T ) R RS

et 7 H1 36% aid § vrer o |

B) S&8 % %1 s ek swm ey |
) ﬁé@%‘a"rwf&aﬁ@@‘ll

D) for <& =1 wmmn b wmer =y o |

E) Swiw & & +1 wy
e
77. ﬁl@?ﬁw‘%'ﬁmmgsmm ? %’Eggg

A) Toreft < ey 3
B) o v ®
C) 1 G’ % W |
D) foret erfumen
E) 3ww # ¥ = =

78. T F' X A B ey @y

¥ T8 e 1 weamw wam

A Wﬁmﬁﬁaﬁ.\ﬁn%maﬁ
1g I |

B) Torell <t smmerfieran ¥ wepe frn & |

C) & I et 3 SR D vy fen |

D) S g v TR |

E) 3w o O 18 7
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79. ﬁ@asﬁ%@ﬁﬁmmméﬁﬁm
ﬁt@ o T HEN 7
A) TS S TR E |
B) o S @ F |
C) herehw w1 @ F |
D) feeeft st @ €
E) S0 & ¥ 18 7

80. Troel Td 7% w fm Y & %ﬁr&ﬁ?ﬁn
T AT 7

A) w3 n%mﬁaaﬂé@zssﬁﬁ
e < oft | i

B) "' ST we1 dree ¢ | i;;t?t

C) ‘% mgagé@msﬁﬁﬁaﬁaﬁml

D) ‘% ﬁmgwﬁ%mmml

E) 3w & & @1 T

81. SUHR H! HFEA 1o} =
A) Fa=
C) as
E) o § ¥ 1 T

— o wEad
B) a1y

D) st

82. “esstﬁﬁﬁa w:ﬁé;wﬁﬁwéﬁq% ?

...........

84. Gﬁﬁrﬁww%ﬁwﬁﬁﬁﬁwm% o)
HT haEd & 7
A) Ie33 farmor
B) feriwor
C) Tagw ferwmr
D) greAiies ferdrgor
E) Swfw & @ %18 7

85. Wi’ wh o1y wss R, Freafifies v # 9
&l Teg T == Hifvyw |

A) iR
C) wiftfen

E) Svdw § ¥ w18 78

B) it
D) wIies

86. e T fohm et B ey 7f 2

A) I I3 B) sIREs

C) TS=IH D) w<iterre

E) Sww & & i 7

Rasiya Geet is a regional song of which
State ?

A) Uttar Pradesh

C) Rajasthan

E) None of the above

B) Jharkhand
D) Chhattisgarh

[E]#E
3 A) .3 T
C) RS . D) i
D) C) Hidfteret e
Rl D) g9 =g iy
E) ST & & S 5% E) 3w # & 18
ply Who founded the ‘Forward Blog’ 2
83. TIN TQNEA VE Y, IWHI A IR 3| A) C.R. Das
B) 'cﬁ'qT B) Gandhiji
AT, . C) Motilal Nehry
C) gu D) <8 D) Subhas Chandra Bose
E) Sugde & @ 1 7 E) None of the above
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a5 SIS ARTIEh IEI TS (ICAO)EEI

GISER A

c) fan D) Ui
g [El The International Civil Aviation Orgg.nisation
@%‘: (ICAQ) has its Headquarters in

A) Montreal B) Brusse‘_jl_g

C) Geneva D) Paris

Ej None of the above

89. weﬁaaﬁm%e@ﬁaw%awaﬁéwﬁﬁ
W 5 T 8 g ol e 8, o ey
ww%mé,wéﬁw%aﬁiﬁaﬁ%
mﬂq,mqaqtgq:—gmaﬂs%qm%%ﬁm|
A) ITUTy
B) It S et
C) Tsgufa
D) el

E) Swiw § 9 18 78

According to Article 57 of the Indian Cof}stitution
a person who holds, or who has held office .
as shall, subject to thte other
provisions of this Constitution, be e_:!igible for
re-election to that office.

A) Vice-President

B) Attorney General

C) President

D) Prime Minister

E) None of the above

90. Wiy Rt =t 1 s, 2025 =y

1 wEEtE e e

A)afr«ﬁrs%smms'%ms’s@(cu) _

B) wHifteds w1 st e gew)
AT $SA (ASSOCHAM) :

C) mqms%m%wﬁmamﬁm
TSI (FICCI) -

D)%w@ﬁ?waﬁq;ﬁmmvﬁm
HS (NASSCOM)

E) 3% & & 1S

ﬂMamsh Singhal was appointed as the
T Secretary General of on

1 January, 2025,
A) Confederation of Indian Industry (ClI)
B) Associated Chambers of Commerce and
" Industry of India (ASSOCHAM)

C) Federation of Indian Chambers of
Commerce and Industry (FICCI)
D) National Association of Software and

Service Companies (NASSCOM)
E) None of the above

-

91. I DI ST e iy
A) Rramr 1943
B) 3tr= 1942
C) 3T 1943
D) faawr 1942
E) I & & g

Quit India Resolution was passed in
A) September 1943

B) August 1942

C) August 1943

D) September 1942

E) None of the above
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92. RIAT H TS F1 R 7

A) eI B) ’5”"
G) & D) f&r)
E) suds # 4 #13 7d
What is the capital of Cuba ? €3
A) Dhaka B) Prague
C) Havana D) Quito

E) None of the above

93. WWWWW T ST
R T Al fisor % aris e
T e R 7 £
A) I ¢ ST 8
B) s St S Bt 2
C) qomM 98 war 2
D) dromE i 2
E) Swdw & 9 =18 7

What happens to the temperat e of a

i
S [E]
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absorbs heat energy ?
A) The temperature rises
B) Heat energy is produced

C) The temperature remains the same
D) The temperature falls

E) None of the above

94. @mamw%m%% ?

A) 16 3R 17 B) 19.31R 20
C) 17 3R 18 3
E) 3wl # @ 18 T

Between which two consecutive |

does /290 lie ?

A) 16 and 17

C) 17 and 18

E) None of the above

T
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T G0 T A1 ST T U off o
A) s

B) <rar

C)

D) i

E) Swdw § 9 1S 7

Wthh of the following metals was not
.h i ,,known or used by the people of the
Harappan Civilization ?
A) Copper
B) Iron
C) Gold
D) Bronze

E) None of the above

96. 18 o1 et Wiy <= (PBD) Ty 2025

aﬁimﬁaﬁmmm?

A) % feeeht B) Reuame
C) srEngmETe D) ysrver
E) St & & =g

Where was the 1gth Pravasi Bharatiya

Divas (PBD) Convention 2025 held 7

A) New Delhi B) Hyderabag

C) Ahmedabad D) Bhubaneshwar

E) None of the above
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What term describe

etk
EEH

w

B) Federalism
C) Colonialism

D) Ba|kanization
E) None of the above

98. T =5 S N Wi ey

LI fohem iy -

A) Tiefish

B) T& formt s

C) Tew

D) HIETHT 3TTeie E

E) 3w 4 & =1 7
Who handed over the Presideniéhip of
Indian Indebendence League to
Subhas Chandra Bose ?

A) Gandhiji
B) Rash Behari Bose
C) Nehru ‘

D) Maulana Azad

E) None of the above

ofi
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wﬁaﬁiwf@aﬁmwé ?
A) aﬁﬁsﬂawaﬁmﬁaw%
B) =ifer gy FeAT o e wrifier 2

Why is burning of natura gas classified as
an exothermic reaction ?

Because it absorbs heat

)

) Because it involves 3 change in state
) Because it Produces light
)

Because heat is produced in this
reaction

E) None of the above

o0 w>

100.

wmw#ﬁuﬂ%eﬁﬁ@a
243Q% awﬁan%a@mmﬁﬁw%l
A) FRTTeTeRT

B) T=mq

 C) memy &y

" D) R

E) Swde ¥ & 1 7

means an institution of
self-government constituted under
5’?&% Article 243Q of the Constitution of India.
A) Municipality
B) Panchayath
C) Metropolitan area
D) District

E) None of the above
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